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4-6

75

mg/L
1 2
( A B C C' B-A C-B C'-B
K-1 (g) 5.0 4.7 43 4.3 -0.3 -0.4 -0.4
K-2 C 4.9 46 45 45 -0.3 -0.1 -0.1
K-3 | (8) 4.3 4.1 4.1 4.1 -0.2 0.0 0.0
K-4 35 34 34 34 -0.1 0.0 0.0
K-5 (g‘) 30 30 30 30 0.0 0.0 0.0
K-6 36 35 35 35 -0.1 0.0 0.0
A-1 C 4.3 4.1 4.2 4.2 -0.2 0.1 0.1
A2 | (8) 4.4 4.2 4.2 4.2 -0.2 0.0 0.0
A-3 C 6.1 5.8 5.7 5.7 -0.3 -0.1 -0.1
A4 | (8) 4.6 4.4 4.3 4.3 -0.2 -0.1 -0.1
A-5 B 38 37 37 3.7 -0.1 0.0 0.0
OFas| (3 41 40 40 40 -0.1 0.0 0.0
A-7 40 39 3.9 3.9 -0.1 0.0 0.0
()] A-8 (’2) 32 32 32 3.2 0.0 0.0 0.0
A-9 34 33 33 3.3 -0.1 0.0 0.0
75 12 16
4-17 mg/L
1 2
( ) A B C C' B-A C-B C'-B
()] %3 | (10) 0.69 0.64 0.63 0.63 -0.05 -0.01 -0.01
A-1 0.48 0.45 0.45 0.45 -0.03 0.00 0.00
A-4 0.61 0.57 0.56 0.56 -0.04 -0.01 -0.01
(a5 | (06) 0.54 0.51 0.51 0.50 -0.03 0.00 -0.01
A-6 0.49 0.46 0.47 0.46 -0.03 0.01 0.00
K-4 0.47 0.45 0.44 0.44 -0.02 -0.01 -0.01
K-5 0.36 0.34 0.34 0.34 -0.02 0.00 0.00
K-6 0.33 0.32 0.32 0.32 -0.01 0.00 0.00
) K-8 0.36 0.35 0.34 0.34 -0.01 -0.01 -0.01
A-7 | (03) 0.39 0.37 0.37 0.36 -0.02 0.00 -0.01
A-8 0.34 0.33 0.33 0.33 -0.01 0.00 0.00
A-9 0.36 0.34 0.34 0.34 -0.02 0.00 0.00
A-14 0.33 0.32 0.32 0.32 -0.01 0.00 0.00
12 16
4-8 mg/L
1 2
( A B C C' B-A C-B C'-B
() K3 (0.00) 0.088 0.083 0.082 0.082 -0.005 -0.001 -0.001
A-1 0.052 0.050 0.051 0.050 -0.002 0.001 0.000
A-4 0.069 0.066 0.065 0.065 -0.003 -0.001 -0.001
(7 as | (0.05) 0.047 0.046 0.045 0.045 -0.001 -0.001 -0.001
A-6 0.050 0.048 0.050 0.049 -0.002 0.002 0.001
K-4 0.059 0.056 0.056 0.056 -0.003 0.000 0.000
K-5 0.040 0.038 0.038 0.038 -0.002 0.000 0.000
K-6 0.037 0.035 0.035 0.035 -0.002 0.000 0.000
(| K8 0.041 0.040 0.040 0.040 -0.001 0.000 0.000
A-7 | (0.03) 0.039 0.038 0.037 0.037 -0.001 -0.001 -0.001
A-8 0.032 0.031 0.031 0.031 -0.001 0.000 0.000
A-9 0.036 0.035 0.035 0.035 -0.001 0.000 0.000
A-14 0.033 0.032 0.032 0.032 -0.001 0.000 0.000
12 16

23




4-10

24



)

30 2.1mg/L
(
)
4-9  4-10  4-11 4-12 4-13
4-9 70
4-10
( )
4-14
6.9mg/L 100% (25 , 30PSU )
4-9
(A) (B)
(km?) 29 25 23 23
(A) L S0 S R N L D
(B) () 8 8
(km3) 0.089 0.079 0.074 0.074
(A) S0 R N R S
(B) () 6 7
4-10
(A) (B)
(km?) 83 67 62 45 47
"""""" w Oy s
(B) C () 67 70

25




4-11
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29km? 25km?
m DO 2.1mg/L = DO 2.1mg/L

25km? 23km?
m DO 2.1mg/L = DO 2.1mg/L

25km? 23km?
m DO 2.1mg/L = DO 2.1mg/L

4-12 2.1mg/L
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83km? 67km? 62km?
Frequency( ) DO 2.1mg/L 75  (=62km?/83km?

67km? 59km? 45km?
Frequency( ) DO 2.1mg/L 67  (=45km2/67km?
| |

67km? 57km? 47km?

Frequency( ) DO 2.1mg/L 70 (=47km2/67km?
| |
4-13 2.1mg/L « )
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